The SOR® 1600 Series Level Controllers
are designed for use in liquid level

and interface level applications with
pneumatic instrumentation. For
assistance with the calibration and
maintenance procedures found in these
General Instructions, please visit the
SOR Inc. Youtube channel for video
walkthroughs.

Installation

W Before beginning installation, mspectt ontroller for damage that may have
occurred during shipment and remove-all cardboard packing material.

W The 1600 Series Level Controllers ship unassembled as 3 separate parts:

—The level controller body assemb
— The displacer with swivel.
— The displacer arm.

W Thoroughly clean the vesse

Threaded and gasketed s rf
cleaned before installing the e

m When installing the leyel.contretter, apply PTFE tape or pipe thread sealant for units
with NPT connectioris ors(r‘}'ts with flanged connections, install with a suitable gasket

connection surface to remove any accumulated debris.
the controller’s process connection should also be
c

between the flangg faces.

Table of Contents

Design and i
specifications are LI R PR
subject to change . i B

without ngii MANCE.......coovennniinii

For latest I’E‘VISIOH, go t0 e : ...............
SORInc.com . 1g Reference Drawings .............

/
Form 1636 (03.19) ©SOR Inc. Registered Quality System to IS0 9001 B VA[3




m Connect the displacer arm with the level controller body by inserting the displacer
arm into the body opening, located on the backside of the controller case. Ensure the
displacer arm is aligned within the body before screwing the arm in.
— If the level controller will utilize a vertically-oriented displacer: screw/ hacr

swivel onto the displacer arm then connect the swivel and displacer:

St unscrew

%‘3‘0 € Refer to Page 12 for mounting reference

START UP
Pneumatic Pilot

© Connect supply pressure to the connection point labeled=“SUPPLY” on the backside of the
controller case. On the model 1600 sealed contraller itis the/top connection, while on the
model 1601 non-sealed controller it is the right ection when facing the backside of
the controller case. Connect the device the p ; ghal is being output to with the
connection point labelled “OUTPUT”.

Electric Pilot

If the 1600 Series level controller was supplied an electronic switch rather than a
pneumatic pilot, the switch will carry/the Tollowing ratings:

N

The SPDT electric pilot se@p osion proof electric switch to eliminate the need
for a pneumatic gas supply. This.is beneficial when redusing fugitive emissions by

no longer using naturalgas,to power on site pneumatic devices. The electric pilot is
typically used to séndan electric signal on high or low level to an electric actuator on a
valve or to a pump for pump/control.

e disconnected before cover is removed.
esult in severe personal injury or substantial

Contact Rating 15A @ 125, 250 & 480VAC

DIV 1&2, Class I, Groups B, C. & D, DIV 1&2, Class Il, Groups
E, F &G, 112G ExdIIB + H2 T6 Gb

Agency Approval Rating

Agency UL, CSA, ATEX, IECEx, INMETRO
Blue (C)
Black (NO)
Wiring Diagram Red (NC)
g

é =L Green (GND)

2/16 Form 1636 (03.19) ©SOR Inc.




@® Open the controller case and move the torque bar back and forth by hand and verify the
displacer arm moves freely and is not resting against anything. The displacer-arm must
be oriented approximately parallel with the ground — if needed, rotate t ti g

knob under the balance spring to adjust the displacer arm resting po

LEVEL ADJUSTMENT

© After completing Start Up procedure and with the displacer ar,
the ground, the level set point is ready to be adjusted.

a. To Lower the Level Set Point: Rotate the adjusting knolytl e-10 increase
spring tension of the balance spring.

decrease spring tension of the balance spring.

@ After the level set point is satisfactorily set, the proporti
to be adjusted. A larger dump cycle corresponds t0-a
on and off points, while conversely a smaller dupp
between dumping due to the shortened span bétwee

a. Loosen the thumb screw, located on the sensitivity-fulcrum.
b. To Decrease the Dump Cycle: Move the ulcrum along the flapper bar in
the direction of the pilot, i.e. towards theysmalter numbers.

nd (dump cycle) is ready
pan between the controller

e. Once the dump cycle is app
fulcrum.

LIQUID LEVEL INTERFAC

© Loosen the thumb scre
sensitivity fulcrum 1/4” 3

a. Begin by sIowa otating the adjusting knob counterclockwise to reduce tension
i allow the upper liquid level to rise until the displacer is fully

spring tensio il the level controller emits an output pressure signal.
c. Slowly rot adjusting knob counterclockwise to reduce spring tension until
er stops sending an output pressure signal.

Form 1636 (03.19) ©SOR Inc. 3/16



@® Allow the lower liquid level to rise until it reaches the appropriate interface level set point.
a. The interface level set point can be fine-tuned by slowly rotating the adjusting knob
clockwise to increase spring tension until the level controller emits an ut
pressure signal. @
b. Slowly rotate the adjusting knob counterclockwise to reduce spring-tension dntil the
level controller stops sending an output pressure signal.

© If alonger dump cycle is required, loosen the thumb screw and
fulcrum away from the snap ring (towards the larger numbers
screw and then repeat steps 1) and 2) of the above procedyire.

that the torque bar is parallel with the case bottem while the displacer arm is

positioned in the middle of the body. e diagram on Page 4.

/Sensitivity Fulcrum
Thum r
Cap Screw. umb Screw
Lock Nut
Pivot Pin
Torque Bar e Displacer
Arm
Torque Arm
Torque Arm _ _
Adjusting Screw Upper Spring Retainer
& | [ ™Balance Spring

@oumn
Displacer

Arm
<_
Bod l J
L

L'
Case

1601 Non-Sealed
Form 1636 (03.19) ©SOR Inc.




Maintenance

L not apply to the pilot. See Page 6 for pilot removaljreplacen
instructions.

LEVEL CONTROLLER FIELD DISASSEMBLY

© Slowly rotate the adjusting knob counterclockwise until there
balance spring.

@® Remove the balance spring and upper spring retainer fron
© Unscrew the lock nut from the flapper bar. Separate the

e~controller case.
f from the pivot pin.

Do not remove either of the pivot pins
‘p\“ Do not remave the sensitivity fulcrani-or the thumb screw from the

flapper bar.
® Unscrew the lock nut from the torque bar. 2 g torque bar from the shaft.
© Hold the torque arm in place and then loo e-two cap screws until the torque

arm moves freely about the shaft.

MY Unless the case mourting ¢
arm adjusting screw-position does not need to change.

6 ft-Ibs.
® Slide the washe

torque arm
O Slide the t back onto the shaft and position the torque arm adjusting
ar to the controller body. Loosely attach the two cap screws that

screw perpendi
hold tarm on the shaft. The torque arm should still move freely about the
shaft.

© Slidethe torque bar back onto the shaft. With the round tip of the torque arm
4@9 rew touching the torque bar, adjust the torque arm until the torque bar
is_paralle

with the displacer arm.

Form 1636 (03.19) ©SOR Inc. 5/16



\\“‘ Do not overtighten the lock nut to the torque bar. The lock nut should
30 be loose enough for the torque bar to rotate with ease

@ Slide the torque bar back off of the shaft. Beginning with the cap-screw-clgsest to
the slotted end of the torque arm, secure the torque arm to the shaft by. tightening
the cap screws to 100 in-Ibs.

ﬂ\“‘ Do not overtighten the cap screws.

@ Slide the torque bar back onto the shaft, making st
tainer is facing downward. Screw the lock nut ba
1/16” of space between the lock nut and torque ba

O Slide the flapper bar back onto the pivot pin attach the lock nut — if

converting the case mounting orientation:
a. Unscrew the thumb screw from the selcrum and screw it back into
the opposite side of the sensitivity fulcrum. The sensitivity fulcrum should be

secured in approximately the same position on the flapper bar.
b. For Left Hand Direct Acting / Rigl everse Acting, slide the flapper bar
onto the left pivot pin.

c. For Right Hand Direct Acting Reverse Acting, slide the flapper bar
back onto the right pivot pi

re t e for the spring re-
o-the shaft while still leaving

< Do not overtig

<N ] ck nut to the flapper bar. The flapper bar must

rotate freely around.the pivot pin.

© Position the upper spring
torque bar, and then
upper spring retaine

gr so it is seated in the hole on the underside of the
g-install the balance spring between the adjusting knob and

LEVEL CONTROL ASE MOUNTING CONVERSION

emble the level controller following the procedure on Page 4.
® Reassemb ¢’level controller with the following modifications:
a. The torque afmoadjusting screw should be rotated 90° from its original position.
b. Th%rew should be removed from the sensitivity fulcrum and re-
installe e opposite side.
he torgue arm, torque arm adjusting screw, sensitivity fulcrum, torque bar,

ar bar, balance spring and stud bolt should all be re-assembled into the
opposite side of the controller case.

6/16 Form 1636 (03.19) ©SOR Inc.



Pneumatic Pilot Removal/Replacement

Q‘B‘ o ¢ For electric switch pilot, consult factory for repair-replaceme

© Disconnect the supply and output lines from the backside of ontraller case.

@® For the 1600 sealed controller, the pilot is attached to the caseb

screws mounted through the top of the case. Undo
pilot from the controller case.

® Either replace the pilot completely or rebuild it ug

controller, it is recommended that the pilot.gaske
appear to be damaged.

replaced even if it does not

< For best performance wi
s only genuine SOR replace
See Page 12 for part numbers:

Your 1600 series Liquid Level Controller,
parts and repair kits should be used.

Level Controller Pilot Action Conye
© Slowly rotate the adjusting kno

balance spring.

@® Unscrew the lock nut froper bar. Separate the flapper bar from the pivot pin.
m the sensitivity fulcrum and screw it back into the

® Slide the flapper bar onto/the opposite pivot pin it was removed from. The thumb

screw on the se
© Screw the lock

erclockwise until there is no tension on the

on to secure the flapper bar to the pivot pin.
‘70 ot overtighten the lock nut to the flapper bar. The flapper bar must
s tate/freely around the pivot pin.

O Th action conversion is now complete and the level controller is ready for
r wti n. See Page 2 for Level Adjustment procedure.

Form 1636 (03.19) ©SOR Inc. 7116



1600 SEALED LEVEL CONTROLLER

ITEM | QTY DESCRIPTION 33| 2 GAUGE PRESSURE 2"
; B 1/4.20 X 2 HEX HEAD BOLT 3 | 2 | SRVPINSEDIAXSMIG TVPECQUARTER-GRY
2 1 1/4-28 HEX JAM NUT SST 35 | 1 HEAVY DUTY SPRING
3 2 1/4-28 X 1/2 HEX HEAD BOLT 36 | 1 {NSERY DOOR/KNOB
4 | 6 1/4-28 X 1/2 HEXSOCH SCR 37 | 1 kn(oB/DOOR £ST
5 2 1/4-28 X 3/4 HEXHD SCREW 38 | 1 | LABEL1600SERIES LIQUIE LEVEL CONTROLLER
6 | 2 10-32 HEX LOCK NUT NYLON INSERT 18-855T 39 | 2 LENS/DOOR
7 2 | 2X1/8 ROUND HEAD METALLIC DRIVE SCREW 0 | 2 LENS HOLDER
8 1 3/8-24 HEX NUT a1 LOWER/SPRING RETAINER
9 1 3/8-24 X 1/2 HEXHD SCR SST a2 | 1 MAKIFOLD MACHINED
10 | 1 3824 X 2114 HEXHD SCR ST 43 | 1 NANIFOLD/CASE GASKET
1| s 440 X 3/16 HEXHD SCREW 4 | 4 NAMEPLATE CONTROLLER
12 | ADPTR 1/4"NPTM X 1/8"NPTF 3165ST 45 | | NAMEPLATE SOR LOGO 314" TALL SIZE 6 BLANK
13| 2 BACKUP RING 010 TFE OR PTFE, SPLIT 4 | 3 O-RING 010 BUNA-N 70D
14 | BAR ADJUSTING LEVER ALUMINUM 47 | 1 O-RING 121 BUNA-N 70D
15 | 1 BAR FLAPPER 48 2 O-RING 210 BUNA-N 75D
16 | 1 BAR TORQUE 491 PILOT/MANIFOLD GASKET BUNA N
17 | 1 BEARING BALL 5/8" OD X 1/4" ID SST 50 | 1 RETAINER SPRING UPPER
1B | 1 BLOCK BEARING St RETAINING RING 3/8" EXTERNAL E-STYLE
19| 1 BLOCK BEARING CAP 52/ 1 RETAINING RING 7/32" EXT E-STYLE
o | BODY HX CARBON STEEL . RIVET 1/87DIA X 171G SST
21 | 1 CASE CONTROLLER MACHINED 54| 1 SCREW ADJUSTING 1/4-28 UNF-2A
2 | 1 CASTING CLAMP 55 | 1 SCREW THUMB 10-32 X 1/2" LG 18-8ST
23 | 1 CASTING CLEVIS SWIVEL s6 | 1 SHAFT CONTROLLER
24 | 1 DECAL SENSITIVITY L4 57| 1 SHAFT FLOAT 1/8" NPT
25 | 1 DECAL SENSITIVATY RH s | 1 SNAP PILOT ASSEMBLY SEALED
2% | 1 DISPLACER 1-7/8" DiA X 12" LONG 59 | 1 SPACER
27 | 1 DOOR MACHINED 60 | 1 SPRING DOOR LATCH
28 | 1 FILTER SCREEN P3+4:500 61 | 2 STUD FLAPPER BAR
% | 1 FOAM TAPE/ADHESIVE BQTH SIDES o | SWIVEL FEMALE ADAPTER

1" WIDE X-0.02" THICK
30 1 FULCRUM SENSITIVITY NYLON W/10-32 UNF 63 1 SWIVEL MALE ADAPTER

GASKET.1/4"0D' CORD
20 DUROMETER"- SHORE A

32 2 GASKET LENS 65 1 WASHER .468 OD X .255 ID X .060/.066 THK SS

31 1 64 1 TOLERANCE RING

[ 8/16 [ Form 1636 (03.19) ©SOR Inc.



1600 SEALED
LEVEL CONTROLLER

Linear = mm/inches

Drawing 5678301

v
[
% ITEM | QTY DESCRIPTION
1 BACKUP RING 010 TFE OR PTFE, SPLIT

BEARING BALL 5/8" OD X 1/4" ID SST

RK

BLOCK BEARING

BLOCK BEARING CAP
BODY HEX CARBON STEEL

\ 2
s 2 1
3 1
g 7 4 1

I % / >t 2" NPT

6 2 O-RING 010 BUNA-N 70D

352 2/ 7 1 O-RING 121 BUNA-N 70D
% 8 2
9 1
1
1
1

O-RING 210 BUNA-N 75D

SHAFT CONTROLLER

SECTION B-B

SCALE 1.6 10 SPACER

TOLERANCE RING

WASHER .468 OD X .255 ID X .060/.066 THK S$

Form 1636 (03.19) ©SOR Inc. 9/16



1601 NON-SEALED LEVEL CONTROLLER

31

GAUGE PRESSURE/T-1/2" LH

REFERENCE ASSEMBLY 32 GAUGE PRESSURE1-1/2" RN,
Tem | qrv DESCRIPTION 35 GRU PIN 37167DIA X 3/47LG JYPE€ QUARTER-GRV
1 1 1/4-28 HEX JAM NUT SST 34 HEAVY/DUTY SPRING
2 2 1/4-28 X 1/2 HEX HEAD BOLT 35 INSERT DOOR KNOB
3 2 1/4-28 X 3/4 HEXHD SCREW 36 KNOB/BQOR SST
4 2 10-32 HEX LOCK NUT NYLON INSERT 18-855T 37 LABEL 1600/SER(ES/LIQUIE LEVEL CONTROLLER
5 2 10-32 X 3/8 HEX HEAD SCREW SST 38 LeKis/Dogr
6 2 | 2X1/8 ROUND HEAD METALLIC DRIVE SCREW 39 LENS HOLDER
7 1 3/8-24 HEX NUT 40 LOWER SPRING RETAINER
8 1 3/8-24 X 1/2 HEXHD SCR SST 41 NAMEPLATE CONTROLLER
o : 3/8-24 X 2-1/4 HEXHD SCR SST " NAMEPLATE SOR/LOGO 3/4" TALL SIZE 6 BLANK
FULL THREAD 0720562
10 | s 440 X 3/16 HEXHD SCREW 43 O-RNG 010 BUNA-N 70D
1| 2 ADAPTER 1/4"NPTM X 1/4" NPTF 44 O-RING 121 BUNA-N 70D
12 | 1 ADPTR 1/4"NPTM X 1/8"NPTF 316SST 45 O-RING 210 BUNA-N 75D
13| 2 BACKUP RING 010 TFE OR PTFE, SPLIT 46 RETAINER SPRING UPPER
14| BAR ADJUSTING LEVER ALUMINUM 47 RETAINING RING 3/8" EXTERNAL E-STYLE
15 | 1 BAR FLAPPER 8 RETAINING RING 7/32" EXT E-STYLE
RIVET 1/8"DIA X 1°LG ST
v 1 BAR TORQUE 40 OVAL HD SEMI-TUBE
17 | 1 BEARING BALL 5/8" OD X 1/4" ID SST 50 SCREW ADJUSTING 1/4-28 UNF-2A
18 | 1 BLOCK BEARING 51 SCREW THUMB 10-32 X 1/2" LG 18-85ST
19 | 1 BLOCK BEARING CAP 52 SHAFT CONTROLLER
20 | 1 BODY HEX CARBON STEEL 53 SHAFT FLOAT 1/8" NPT
2" NPT

21 1 CASE CONTROLLER MACHINED 54 SNAP PILOT ASSEMBLY
2 | 1 CASTING CLEVIS SWIVEL 55 SPACER
23 | 1 DECAL SENSITIVITY LH 56 SPRING DOOR LATCH
24 | 1 DECAL SENSITIVITY RH 57 STUD FLAPPER BAR
25 | 1 DISPLACER 1-7/8" DIA X 12" LONG 58 SWIVEL FEMALE ADAPTER
2% | 1 DOOR MACHAINED 59 SWIVEL MALE ADAPTER

FOAM TAPE ADHESIVE BOTH SIDES
27 | 1 A ADHESIUE bar 60 TOLERANCE RING
28 | 1 FULCRUM SENSITIVITY NYLON W/10:3% UNF 61 WASHER .468 OD X .255 ID X .060/.066 THK SS
% | GASKEF1/4J0D CORD

20 DUROMETER - SHORE A

30 | 2 GAGKET LENS

Form 1636 (03.19) ©SOR Inc.




1601 NON-SEALED
LEVEL CONTROLLER

Linear = mm/inches

Drawing 5678300

ITEM | QTY DESCRIPTION

BACKUP RING 010 TFE OR PTFE, SPLIT

BEARING BALL 5/8" OD X 1/4" ID SST

BLOCK BEARING

BLOCK BEARING CAP
BODY HEX CARBON STEEL
2" NPT

O-RING 010 BUNA-N 70D

O-RING 121 BUNA-N 70D

SECTION E-E
SCALE 1.600

O-RING 210 BUNA-N 75D

SHAFT CONTROLLER

SPACER

TOLERANCE RING

o] an] =Nl =]=]=]=]~

WASHER .468 OD X .255 ID X .060/.066 THK SS

Form 1636 (03.19) ©SOR Inc. 11/16



Repair Kits

Sealed Door Assembly 5678484P
Standard Door Assembly / 567B483P
Displacer Assembly Kits | Displacer Kit 12” 316SST 5678481P
Displacer Kit 12" PVC / /|, 5678480P
Displacer Kit 24" 316SST // |/ Bors4sep
Pilot Repair Kits Quick Opening \ ~[ /5678476P
Throttling 5678477P
Swivel Assembly Kit N 5678485P
Process Seal Repair it BUNAN~_ ) / | 5678478P
Process Seal Repair Kit VITON 5678479P

Pneumatic Pilot Replacement Kits Throttling Quick Opening
Sealed (1600) With Plugs > 5678390P 5678292P
Non-Sealed (1601) | Brass & “~._5678388P 5678393P
Vibration Resistant Brass 5678386P 5678395P
316SS 5678389P 5678394P
Vibration Resistant 31}?3& 5678387P 5678396P
Without Plugs 5678392P 5678123P

Mounting Reference Drawings
LEFT HAND MOUNT >

ENSITIVITY FULCRUM

RIGHT HAND MOUNT

PROCESS CONNECTION ARM

THUMB SCREW
FLAPPER BAR

TORQUE BAR

‘ADJUSTING KNOB

DIRECT ACTING DIRECT ACTING

Rising Level INCREASES Pilot Output

REVERSE ACTING
Rising Level DECREASES Pilot Output

Rising Level INCREASES Pilot Qutput

REVERSE ACTING
Rising Level DECREASES Pilot Output

Form 1636 (03.19) ©SOR Inc.



1600 SEALED

LEVEL CONTROLLER

F=-101.6 ==-101.6 =
4

1/4" NPTF

433 1315 —=
1-45/64 5-11/64
—— 20.2
51/64
124.6
4-29/32
lr ° I ]
I
|
|
|
I
=~ |
|
|
205.8 53.2 C |
8-7/64 2-3/32 o !
~ |
@ /z" NPTM ~—
?B
SUPPLY OUTPUT
2223 .
8-3/4 O S —J Y
} 97.6
| 3-27/32
J | 1
I
|
ARM LENGTH DIMC i
130.4
10INCH |72 i
15 INCH %8-717‘8 i Linear = mm/inches
i Drawing 5678451
DISPLACER DIMA | DIMB !
1.88 K 10PV~ (3108 476 N
1p-27/64 |1-7/8 Dimensions are for
1.66 X 12376857 /2398 1942 reference only. Contact
Lo xonsrassr | 645 22 the fgctory for cerz"/f/ed
25-27/64 [1-21/32 drawings for a particular

NOTES:

model number.

D 1. DIMENSION APPROXIMATE AND BASED ON A FIVE THREAD ENGAGEMENT.

Form 1636 (03.19) ©SOR Inc.



1601 NON-SEALED

LEVEL CONTROLLER
$5.4 ész.s
2_92';,32 ‘ .

205.6 53.3

8-3/32 2-3/32

O

SUPPLY OUTPUT

222.3

1/4" NPTF

42.9 109.4 ——

1-117Y6 4-5/16

~ 4 16.4
41/64

@B

8-3/4 Ol I— ****‘ﬁﬁ
1) 976
m | 32713
A= 1t
|
7/ |
ARM LENGTH | DIMiC i
10 INCH ;,_Zf%l/ / |
\
swer g/ |
‘ Linear = mm/inches
I
P Drawing 5678450
DISPLACER DIMA | DIMB ! g
3308  |47.6 —
1.88 K 128V . .
f< ép/f/) 12-27/64 1-7/8 Dimensions are for
1.6;{%3@/?‘3‘%% . 152, reference only. Contact
545.6 22 the factory for certified
1&”(\24\*5%-“ 2527164 |1-21/32 drawings for a particular
model number.
NOTES:
Q 1. DIMENSION APPROXIMATE AND BASED ON A FIVE THREAD ENGAGEMENT.

Form 1636 (03.19) ©SOR Inc.



Troubleshooting

Before beginning maintenance or troubleshooting, isolate
controller from the process and ensure that all pressure
from the controller body. Disconnect and vent the suppl,
connected to the back of the controller case.

*

W

:@ ented
and output/lines
/0

Symptom

Probable Cause(s)

Corrective Action(s)

The output pressure
gauge is indicating an
output signal when:

| Fluid level is
below the displacer
on a direct action
controller.

B Fluid level is
above the displacer
on a reverse action
controller.

W There is too much
tension on the balance
spring, resulting in too
much force on the torque
bar.

W The displacer arm

is set too high or the
displacer is contacting an
object inside the vessel.

| Slowly rotate tWing knob

countercloekwiseto_reduce spring
tension until the-leve controllerstops

e-forque arm up and down to
he displacer arm position.

tion, this indicates the displacer
ig'riding at the top/bottom of the
vessel connection.
—If the torque arm moves too easily,
is indicates the displacer is no longer
connected to the displacer arm.
—Adjust the displacer arm so it's
centered in the vessel connection.

The output pressure
gauge is indicating no
output signal when:

W Fluid level is above
the displacer on a
direct action controller

B Fluid level is
below the displacer
on a reverse action
controller.

D

W There is%@@h
tension on-the batance

| Slowly rotate the adjusting knob
clockwise to increase spring tension
until the level controller begins sending
an output pressure signal. Check the
output pressure gauge again when the
liquid level falls (direct action) or rises
(reverse action).

m Move the torque arm up and down to
check the displacer arm position.

—If the torque arm moves only in one
direction, this indicates the displacer
arm is riding at the top/bottom of the
vessel connection.

—If the torque arm moves too easily,
this indicates the displacer is no longer
connected to the displacer arm.
—Adjust the displacer arm so it's
centered in the vessel connection.

S

Form 1636 (03.19) ©SOR Inc.




Symptom

Probable Cause(s)

Corrective Action(s)

m The controller fails
to repeat at the same
liquid level after each
dump cycle, and
occasionally fails to
dump or shut off at all.

W The torque bar
appears difficult to
move, and when
depressed the torque
bar does not return
to original position
quickly.

Foreign material has
accumulated inside the
level controller body.

The pilot bleeds
supply pressure
continuously.

W For a snap pilot,
foreign debris has
become trapped under
the ball inside the pilot.

| For a throttling pilot,

foreign debris has
become trapped under
the pin inside the pilot.

ome .
pilot-components and then reassemble
ilot and install it back into the

ilot from the controller
ing thé procedure on Page

e cap screws from the
the pilot which allows it to
rt. Carefully clean all of the

controller case.

In an interface level
application:

W Sometimes the
vessel overfills or
drains completely
(especially with
changing process
temperature).

B Additionally, the
displacer arm is not
riding at the top/
bottom of the vessel
connection nor is th
displacer contacting

an object |n3|de the
vessel.

The specific graviﬁeé
of the upper and-lower
liquid are close-and a
temperature hange is

\97ontact SOR customer service and

provide the exact specific gravities

or API gravities for both the upper
and lower liquid of the interface. SOR
engineering will determine appropriate
displacer sizing per the provided
application parameters.

%)

E

SOR

SORInc.com

14685 West 105th Street, Lenexa, KS 66215 m 913-888-2630 m 800-676-6794 USA ™ Fax 913-888-0767

Form 1636 (03.19) ©SOR Inc.



